doo ll] il dnaal gl polosi! Bdlmii' b
Jokl ygall — Yo VA/Y e VY ualyall olall
(Gt pa ¥ ARl ) 5 b ¥ : 8

cage YeVA/ N/ ¥E i

i e i Ve ¢ tb ¥ 0 ) k(YA ) el S ol a6

Caliag (£ ) wi Yo i Vit

" ot | | ol gaied Ll (e g

= oyl ] o o il o o5l

Gl gl ol A .. oAl eeene oo
il gl o0
e
| 3ol | poudy

Y e el s
. w_>‘J_L| <l \_.A_Al

e (£) v Yoidl! i Yot
| | ol s il (lsg
ST i il o0 aSEallg

sl iV ¢ daladl o)

ol dugillll dual yall poled] &alomis yhako!
Joll yall — Yo A/Y oY Sl yall plall

(i Gl ) ot 1 - § el

[ (Cels,) S !
4 b1l

:u_,_.. | !L‘('_;J

+ il et ke Vel | i
et B g il it il g
il po e Yo i

YA/ YAV J oW1 59t - Al solt ddialt Al



YA YAV ol 58! Aladt - J 9% 590 - (A 3ulod W1 ARULY) ¢ L 31 - dolalt Ay o3 At 501 ALY Balgli (locial

Ve (£0) aia¥) Aud S A a3e -

Aadia (YA) laie¥) dul S Cladia dac -

(b e g ¢ laiel) Al S Ciladia aae (e ALY a8 i e B -

(Slebu EDE) LAY () -

Asa (V) DLasSU 4K ds all -

P Agling cilaglal) 08 8 . llall (5 338

ALY el Lghgan 8y Al dadie i latiel) S dadie 8 ol gas 12 Cilagledl) T 30
Al b eadl J8 o 48 Sy Aliag ) s 18

3 JS (o Lt Baal g il L) qugthiall g ¢ zliadd day e ALid) ¢

AL e alasil ane g ocla g ) 8 Galia )l Al 5 ¢ Aadld (3 ) Giladl AR aaa
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Base your answers on what you studied in | cLo¥1355010 -8 Cew)s Lo s guid -2

Biology: P AGY AN e coni
1 - Write the scientific term: e JIA alal! mllamat| S0 -
Proteins which suppress (inhibit) the immune 1 AGY 3Ll
response or stop, so the B-cells will StOP | aicliatt atoiudtidaiiy iy
producing antibodies. (B) Lissi cadgnns Loty 4

Baliaatt plus 1 L51 (ye Zea) S|

2 - Choose only the right answer of the | bl dads doouall Aala¥f S -

following sentence: 3SSAaT) Sl Y £ dadd )3
The fragments of antigen-bind inside the | ; _cya caiaiLssa s
macrophages to a protein called......... :

.............. (i) (35 g i
@ Immunoglobulin. Sl g glond @
@ Major histocompatibility complex. it | 331438 @
@ Interferon. Sl ud Y @
@ Complements. (S DeSath) Slasiell @

3 - Choose only one question (A) or (B) and | (&) o (1) odiaudt dsi pi5t -¥
then define scientific term: 1 e @B
(A) Tendons. LY (1)
(B) Sarcolemma. e S5t (o)
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4 - Mention one example for each of the

following:

1) The differentiation of an egg (N) to an

individual directly.

2) The differentiation of somatic cell (2N)

to an individual directly.

r o3l Lo JST 101 YLl S0 - ¢
358 G (0) Baagd) gy + W
il
(AP IPWEN (P WER [ PER RIL
s 3,8 |

5 - Give reason for:

The appearance of malaria fever symptoms in human.

6 - What would happen if:

Chromosomal triploid in human was found.

z‘,si:ﬂ.ﬁ}m‘a-O

OLud ¥ e LiyShed! o 2l el 556t

1ol Aa ylalt c:‘mn Lo =1
2 rall A aslial Ggus
SOl Y1 S Auainal! das gl
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7 - Choose only one question (A) or (B) and
then compare between the following
terms or definitions:

A) Neutralization & Agglutination.

B) Getting rid of toxins in plants & Getting
rid of toxins in human.

(@) 91 (1) ot gud ) b 250 -V

O (B

OO g galaid -

OLadl B pgeradl e palsill - o
OLud ¥ 2 pged! (po palsidly
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8 - The figure below show the translation of | zui (o Slelel (g1 JSEII -A
mRNA Answer the following: RNA

1*) Write the bases sequence on mRNA. r o3 e L2
2"d) What would happen if the

arrangement of bases on the DNA
template changed?

RNA e e tgatl plis cas) ¥y

i T padl 13]G 3Le L0

sealat DNA das yi e delgall
39) What is the name of enzyme which o priaedt @3 g Lo L5
used to translate mRNA? s RNA zts|

Part of DNA single strand

| | | | | |
LA] [T][C][C][T][C]
NPT T LY N YL
< ; SN % mRNA
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9 - Illustrate the effect of LH and FSH | LH FSH 350, o6 maj-4
hormones on human male and female. OLus ¥ ity ,S3 ole

LH FSH

Male

10 - What would happen when absence of | icsemsolid wie Gusmyhlo-):
phosphate group from skeletal muscular | sz i< s atiae 2ol ;ye claw gt
tissues?

6] YOAA/Y oAV J g% 50l - Amn | palt Aulbalt A
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11 - Choose only the right answer of the following: | b lee dadd dovonall Agla W1 50 -1 )

From the inflammation-generating substances | ----... Ol DU 5T gat 31galf (yo
the......o.coeiini
@)  Perforine. g ()
@ Cytokines. LS el @
@ Interleukins. BTt ] @
@ Histamines. syn Licuigl | @

12 - Choose only one question (A) or (B) and | (©) 9i (1) o 1audt i 500 -\ ¥

then give reason for: )
g e @

§ piomll 23T 1) puda] riiead i 0B -
Yo 4 \Awwwm‘uﬁy|ﬁn—g

S dw

A) Placenta may cause great harms to the
embryo.

B) The suitable female age for pregnancy
ranges between 18 and 35 years.

YoAA/ Yo AV J %1 59t - Aam | rall Al Wi
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13 - What are the results if leaves of calyx are | :le 4G et Z & e -\ Y
hardly differentiated from those of the Bl o oIS Glogi sueed pide

corolla in some flowering plants? .
SOLLAY Hla)l o ‘;ﬂ 294!

14 - Write the scientific term of the following: | : oL b le JIu alall pllaaal| CGSH -1 ¢

They offer information which are collected | @ Lt clogtaatt Jami it Lstst
about microbes and foreign particles to the Spe- | wu it alus 1y Sy ,Satt e Lgaan

cialized immune cells found in lymph nodes? | acwmsiatt elict LR Lgona
glacdtiaaatl La

15 - What would happen when: a disturbance | sj=t 2 s &gam 58l mig 1o
in the neurohypophysis hormones of B Y e siaal!
pituitary gland occurs? )

8] YoM YAV Jo%1 5ol - A | rolt Adbalt Aie
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16 - Choose only one question (A) or (B) and (@) 91 (1) o gl | s § yi3nt =1 %
then compare between terms or definitions: 1 Cld 3
A) Lysis & Precipitation in immune e lial 1 3Leand ! (2 Coru sl g Wit | -
system. (concerning: the way of work) | = (Ligie s Joe 23 b cm oya)
B) B-cells & T-cells (concerning: the
place of production and maturation)

At sty (B) aatar s o
(it Laalt e (30) (T)

YA/ YAV J o1 59t - das i yolt dAdialt Al
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17 - The following figure represents one of
the important vital processes in the cell.

1*") What is the name of this process? and
its importance?

27) What is the function of part (A)?
what is the results of the disturbance
in nitrogenous bases?

(A)

G | Jttan oI L1 JSGH -\ Y
it Aalgl A g | Olalaall
Slgirani Loy Sulaall oiia ul Lo + ¥
§(A) 3 2adsy Lo Lol
SR R Us Ggus AaigIMleg
e g ydd!
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18 - What is the role of head and neck of | Js aupagss i) Hou 1 ga La VA
man’s sperm? Ol gmd) B Gially yul )11 (pe
SOLud W1, A gial |

19 - Choose only one question (A) or (B) | @2 (<) 9i (1) ottt 5uadt i yisnt =14
and then write its scientific term: rdgle JIA elall allaael! CUS)
A) A type of connective tissues that forms | #0321 ol JS&s 2els amuwi (1)
some body parts and does not contain | ixegl e Goimd ¥y @rwont!
blood vessels. Asgas
B) Neurochemical transmitter’s presence | alwogt o2 uaslsiv uac J86 (o)
in the synapse during muscle response | 3,151 e dctiaat! dceaatl
to nervous stimulation.

S > e Als
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20 - Choose only one question (A) or (B) and
then mention the site and the function:

A) Stigma.
B) Interstitial cells in Hydra.

02 () 91 (1) GVt | 030 =Y
+ Ald ot g HISal) HS3)
“ecad ! (1)
et B Al LY (2)

Site OLS

Function  aaas4n

21 - Choose only one question (A) or (B)
and then give an account on:

A) Tyloses.
B) The deposition of the gum.

() 9 (1) Cth gt A § 50 =Y N
14y dguadall Lo HS3 @3
Slygkan (1)
gealt cocu )5 (<)
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22 - Choose only the right answer for the | dads dsvovalt Al W 50 -YY

following sentences: ot Loe
During the stages of the spermatogenesis | ., ,¢5 4 4 et pui et Lt
the spermatids formed in............. phase. | Aoy 8 s giad Gl g
@ multiplication Lt @
@ maturation geaid| @
@ growth =
@ metamorphosis Lled | gzt @
23 - Give reason for: o) X TP
Complements play an important role in the de- | jcous 2 Lags 1593 & eSat | cals
struction of microbes that found in the blood. Sadtls 54> gad| Slig Sl
24 - What would happen if: e Sty 13k - Y €
Absence of helicase enzymes from the Sid | Al (o i gl Sl 3 s i

living cells?
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25 - The figure below show a T. S. in the | Lolkad miagy I JSadl -Yo

ovary of a human female, look at it
then answer the following:

1*") How many days last for the maturation | : b Lee cuai @3 JSEI1 (!
of no. (2)? L Loy il ALY e oS ¢ ¥

2") What are the names of hormones | $sei oS (Y) o8, cuS !
secreted from no. (2) and no. (3)? 343 AT Gl g pgd! mat Lo L1

OLus¥ T e o8 Lud yo

3*) How many chromosomal sets in the 3(F)  (Y) ooy o
cell no. (1)? Lauall Ole gamall 3ue oS :EI
$(V) iy ddstl B

14 YoM YAV Jo%1 5ol - A | rolt Adbalt Aie
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26 - Explain the effect of: Aol 5uaH ind 15 udg - Y1
The two lobes of pituitary gland in suckling | _;(u.ss1 .8 dels 1 ddee le
(breast feeding) process in man.

27 - The following is the sequence explains NN F T VYR {ii (F ¥ wiri (I L%

a part of a DNA strand; DNA s ive Ralad s 4
3 s 2 > ‘?h-'“
Answer the following questions:

’3....TAC - TTA - AGC - ATT....’5

1*") Write the sequence of nucleotides on R Gl gl S gt i cis s )
mRNA transcribed from this strand. oy i guialt RNA g5 alad

. . q DNA ¢555 (po dakadlioia
2") How many amino acids in a Ll

polypeptide chain translated from this
strand? (Mention the 1% amino acid in
this chain).

o2 dcie ¥ pales N sae sus LolS

ot (o | et i Adw

eo RNA aabs e Lyl

B U sl s gl S5
Aladadl ol
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28 - Choose only one question (A) or (B) and | (<) oi (1) ol 13udt s § pisnf = YA
then write its scientific term: olal! mllamalt CISH @
A) Seeded plants whose seeds develop s oy il
with a pericarp. s Ly giu Lacd a you oililo -
B) A phase in the menstrual cycle is red BN
characterized by an increasing in | =B 200 d=lms gaalow
estrogen secretion which stimulates | “*** HBlEala ) e

: JPRICE PP L
the growth of the endometrium. sled! ALILyy G e
“""J'” 4.3\.2_1

29 - What are the results of: 1 ohe A0 ;e ZILES Lo - Y4
Injecting a group of mice by virulent (S) Lipis Oyl (yo Ao gamme (yio
bgcterlal typc? (S) that preylously t.reated & il Lgielan Gau ity Fisadl
with deoxyribonuclease in addition to . ‘u
living bacterial type (R). T e i o

H

YA/ YAV J oW1 5 addl - das i yolt Adialt Al



YA YAV ol 58! Aladt - J 9% 590 - (A 3ulod W1 ARULY) ¢ L 31 - dolalt Ay o3 At 501 ALY Balgli (locial

30 - Choose only the right answer of the dadd Asvomall Al 5 =Y
following: ok Loe

The ovule formed by ...................... Lt el o
division in flowering plants. SRl 8 SLplg = bagas

........... ?MY' Ao lgs d pa 3]

@)  meiosis only o (g5 50! @

(®  mitosis only add (g5 geel! @

@ meiosis then mitosis (§35%el @3 (Sauet! @

@ mitosis then meiosis (§39ed) 03 () 5eed @

31 - What would happen when: 193] Cokomy 13La -1
The developing cell produced from g (5 5m O g Al g Ciias |
the fertilization of one single sperm is 80308 BN a3 Lganta £ Lisly
separated into two masses of cells?

YoAA/ Yo AV J %1 59t - Aam | rall Al Wi
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32 - Compare between the following:

Endospermic seeds & non-endospermic

seeds.

1O Q8 =YY
Ay g X1 gl

A8 o g 3| S 90ty

Endospermic seeds
Ay g N ol

Non-endospermic seeds
48 o 9utd | I 59l

33 - What would happen when:

The second line of defense failed in
getting rid of the foreign body?

£13) Gk 1300 T
R R (P WU {FONEN S ey
eﬁﬂ‘w‘aﬁua.\én:d‘
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34 - Choose only one question (A) or (B) and | (&) i (1) ottt sy -¥8
then illustrate by drawing: OBl JolS @yt Ly e g @
A) Stages of pollen grain germination. AL A o ]
B) Asexual reproduction in bread mold. | s & i 3 sl -0
SUES (V-9
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35 - The following graph illustrates the
contraction of the same muscle
“(A) curve represents the normal
contraction”:

1*") What is the name of each state that is
represents by (B) and (C).

2"d) Explain the curve (C) does not return
to the start state.

muscle contraction strength
laall (alaEi ¥ 3as

JSEH 53 () () (1) Sionial =¥
i (e L@t ke 31
(1) (mionialt Jian S Atliaall
“ALRIGLaR galai
b Lae o
Llias i) ALt | el S350 ¥
() (i) Crsiomigpre IS
Ceuys Lo s g (B puid :LOLS
(7) el G290 pue
I 2D (6 gied
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36 - Part of DNA contains the following
sequence:

/

Answer the following:
1*) What would happen if the Thymine
base changed to Adenine?

2"9) Is the protein synthesized or not?
Explain your answer.

S DNA sG> (e de Y
:gJMlEUL'J!cle

3....TAC - GCC- GGG - ATT....”5

dclgd Oycad 3 ooy ale :&,i
1 DNA 552 3 (sl
§ oY

GulmT el 1y L Lyt Joa Lol
Al | e S 1 (35 5

37 - Choose only one question (A) or (B)
and then write its scientific term:
A) A particular sequence of nucleotides in
DNA is transcribed to a complementary
sequence in triplet on mRNA.

B) The enzyme is produced by viruses
with RNA genome.

@ () 9 (1) o3t syl - Y'Y
e I alal! ellaaalt LIS
CLAMS B Ol S i) auls - |
Lo @3 oty MRNA e
.DNA oy asipe

Clugpall 2 diyad i gl @l -

RNA it Lol giows 955 1
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38 - Choose only one question (A) or (B) | (<) g (1) (st awdt iy - ¥A

and then mention the importance: s At s g @
A) Tendrils in plant. L B Gt lomad - §

B) Cholinesterase enzyme. BOC_ A0 3] PRI

39 - Choose only one question (A) or (B) | :e2 (o) of (1) oudfaadt dsi sl - ¥4
and then give reason for:

e
A) The zygospore divides by meiosis. -3 Grg—e plwdl Ggu > ]
B) The menstruation takes place if the i gyt M 3 gk 9ty

ovum is not fertilized in human female. 4503 ol 134 ealattd 195 o -3

OLLa Y 0T B Ay g
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40 - What is the technique that used to
obtain the following:

1*") Important economic plants from some
living cells.

2"9) Frog without fertilization.

41 - Choose only the right answer of the
following:

The lymphoid organ which have the highest

Jguasmll Aaliall Ady ylall HS3f-¢ »
e S e
e dslaid! ded ginala ¥,
S LB ey

percentage of lymphocytes is .........

Tonsils.
Thymus gland.
The lymph nodes.

®Oe6

Payer’s patches.

obas | Hgus palacs Lol

+ oL Loa dad douuaal| Agla ¥y - §)
Lo 3o A gliaacltl sliac¥ ,ui

42 - Mention the uses of hybridized DNA.

Omged) DNA Siletusit 4830 -

YoAA/ Yo AV J %1 59t - Aam | rall Al Wi 23
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43 - The following table illustrates the 2 Lem M1 0l 9355 Liwa £ Y
codons of different amino acids, look

Y[ PREN (- WL {
at it then answer:

Glycine | Arginine | Threonine | Lucien [ Prolines | Alanine | Tyrosine | Lucien | Alanine
ol L)l | otiend | orwedd | odan | ou¥l | owess | et | oe¥l
GGC AGG ACC UuG CCcC GCG UAC CUG GCA

1%) Write the mRNA strand that produced
from the following part of DNA:

1A DNA tay i sy
250 MRNA tay 8 a1 : ¥

2"9) Write the arrangement of amino acids | o &eues¥! polen ¥ a5 st Lsls
in the polypeptide chain which produce

from the previous nucleic acid.

RSN vk gt | Adead! wone dladw

44 - Tllustrate by drawing only with complete
labels the structure of the vertebrae in
human.

o2 Aalae 5 a0 ol 5 Sl
LOLlua ¥
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45 - The figure below show the humeral | zelisdt 201 mog LI Jsati—to
immunity. adalsd

1*") What 1s the importance of organ no. (2)? Ay a3 5 50 0

29) What is the importance of major 3(Y) iy ruaadl drani L ¥y
histocompatibility complex? § el 3010 (gt e Lo 1S

3) What would happen if the structure no. | §(*) s caS 5l olé 13] s fsle : L5
(3) absent?

@ "
o, . /ﬁ - 4
(5
‘&
g
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